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1. This Test Booklet contains 32 Pages and an OMR Answer Sheet is kept unattached inside it. A blaue/
black ball point pen will be provided separately in the Examination Hall.
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2. Immediately on receipt of the Test Booklet, the candidate must ensure that the Test Booklet contains all
the pages, printing is legible on each page, Test Booklet is not damaged/ torn, Test Booklet contains an
OMR Answer Sheet with the properly printed barcode. Only after ensuring these aspects, the candidate
should start writing down the Roll No./Name/ Centre of Exam. and its Code etc.
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Roll No. ; The Réll Number consists of eight digits and all digits should be filled :

in box. All the eight digits (including zero) are to be written. For example, if Roll Roll No. (T 9.)

Number is 11000124, then it should be enteredas[ 1] 1J0JoJo[1]2]4]. M [0 0 O

Then, the circle showing the concerned figure below each box istobedarkened | @) @ @ @ @ © © ©

using blue/black ball point pen. .

ﬁaw;@ﬁzm%ﬁmmwmdﬁw%u Hepl o1 A H {1 T 800D OOVD

e 3 U € 3 w0 R g TS st (3 The) | etk | @ @ @ @ Q9 O @ @

T = 11000124 &, A1 (1o JoJo[1 2[4 ]shmatisms s @ @ @ O D B O @

e ¥ A 7 ¥ v i e/ wen A wRe T o, fre T s ORORORONORORON ]

ZW 1(@%) Roll No. (T . ) : 11000124 ©9069099
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In case the Test Booklet (including OMR Answer-Sheet) is found defective by a ONORONONORORORO

candidate, he/she must complain about it within 10 minutes of its receipt and @ @ OO DD @ @D

must get the defective Test Booklet along with the OMR Answer-Sheet

exchanged with a fresh one. No complaint for exchange of Test Booklet shall

be entertained after 10 minutes of receipt. ONORORORONORORO)
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The printed numbers on the Test Booklet and the OMR Answer Sheet provided to the candidates must be same. In
case both the printed numbers do not match, they should get it replaced by the Invigilator within 10 minutes, after
the start of examination.
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The Test Booklet contains 100 questions. All are to be answered.
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If Answer of a question is right, then 1 mark will be awarded, and if it is wrong, then 0.2 mark will be deducted. After
making entry for the Answer once, it cannot be changed. If, Answer marked is changed or erased or darkened in
more than one circle, then it will be treated wrong and 0.2 mark per question will be deducted.
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Use of Pen/Pencil/Calculator/Slide Rule/Log Table/Graph Paper/Charts or any electronic gadget e.g., Mobile
Phone, Bluetooth, Pager, Wearable Device, Smart Phone, Smart Watch etc., is not alowed. Use/Possession of above
materials will be treated as unfair means.
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Any candidate attempting or using unfair means or copying or detaching any page of the Test Booklet or marking
the answer on the Test Booklet will be expelled and his candidature will be rejected.
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Candidate must also follow the instruction, which may be given by the Centre Superintendent/ Invigilator of the
Examination Centre from time to time.
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ADDITIONAL TEST BOOKLET/OMR ANSWER SHEET WILL NOT BE PROVIDED UNDER ANY CIRCUMSTANCES
OTHER THAN THAT MENTIONED IN S1. No.4 AND 5 ABOVE.
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SUBMIT THE WHOLE TEST BOOKLET ALONG WITH THE OMR ANSWER-SHEET AT THE END OF EXAMINATION.
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Rl?lugl}; worl:jmust not be done on the CMR Answer Sheet. Space provided for Rough Work in the Test Booklet should
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“Bar Code” Printed on the OMR Answer Sheet must not be tampered or in any way marked; otherwise the candidature
shall be cancelled.
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Candidate must not make or leave any mark of identification on any part of the OMR Answer Sheet except Part-1 of
the OMR. Answer Sheet as this may lead to disqualification.
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For verification of your handwriting, it is necessary to write prescribed text in full as per direction which is printed
on Part-1 of OMR Answer Sheet with blue/black ball point pen and put signature in Hindi as well as English in the
prescribed space. If it is not done on your OMR Answer Sheet, candidature will be rejected.
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In case you do not abide by the instructions as given in the OMR Answer Sheet, your Answer Sheet is liable to be
rejected for which you will be fully responsible.
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Before leaving the Examination Hall, return both the Test Booklet and OMR Answer Sheet to the Invigilator. Leave
the Examination Hall only after the permission is granted.
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The questions have been set in Hindi and English languages. In case there is any difference in the meaning or text of
the question/options, the English version shall prevail.
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Process for Filling up Part-1 of the OMR Answer sheet : ’
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1. ANSWER SHEET IS OF OMR TYPE TO BE READ BY COMPUTER SCANNER. BEFORE FILLING IT UP, THE
CANDIDATE MUST CAREFULLY READ THE INSTRUCTIONS PRINTED ON ITS FRONT AND BACK SIDE.
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2. The Candidate must write legibly his/her name in English in the prescribed space using blue/black ball point
pen.
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3. Roll No., Name of Examination Centre, its Code and Test Booklet No. should be written on the Part-1 of the OMR

Answer Sheet in Computerized format. The Digits should be written in topmost boxes in blue/black ball point
pen and the circles corresponding to the digits are to be blackened with “Blue/Black Ball Point Pen Only”.
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Example : If the Roll No. is 11000124 and the Test Booklet No. is 164030, then the digits will be written separately
and the corresponding circles will be darkened as shown below.
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4. The Candidate must put his/her signature in Hindi as well as in English (not in capital letters) in the prescribed
spaces using blue or black ball point pen.
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C. Process for Filling up Part-2 of the OMR Answer-Sheet :
N TH.2NR, IO YA UIS-2 ThY W ht WieRaT :

1. The questions are of multiple-choice type. Each question is provided with 4 options, out of which one
option is correct. The candidate must ddrken the appropriate circle provided in front of the question
number using blue/black ball point pen only.
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Example: If correct answer for any Question is choice ‘B’, then darken the circle in front of that question
as shown below :
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2. (a) The circles, as deseribed in C-1 above, are to be darkened by using Blue/Black Ball Point Pen only.
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(b) The shading should be dark and should completely fill the circle.
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© Onjy_one circle corresponding to the most appropriate answer should be darkened as shown below
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Note : CAREMUSTBETFAKEN NOT TO DAMAGE THE OMR ANSWER SHEET IN THE PROCESS
OF DARKENING APPROPRIATE CIRCLES.
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(d) The candidates must fully satisfy himself/ herself about the accuracy of the answer before darkening
the appropriate circle, as no change in answer once marked is allowed. Use of eraser or whitener/
correction fluid on the OMR Answer Sheet is not permissible because the OMR Answer Sheets are
machine gradable and it may lead to wrong evaluation.
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Oscar awards are given for excellence in the field of :
(A) International understanding (B) Social services
(C) Cinema (D) World peace

Main purpose of bringing Panchayati Raj System in India was for :
(A) Decentralization of political powers to general public

(B) Community development

(C) Benefit of farmers

(D) Generating employment for village people

Who among the following is the supreme commander of the Indian Armed Forces ?
(A) Major General (B) Defense Minister
(C) President of India (D) Prime Minister

Which one of the following is related to Chauri Chaura incident of 1922 ?
(A) Protest lead by Vallabhbhai Patel against the sharp increase in land tax
(B) Communal riots during the creation of Bangladesh

(C) Train robbery near Lucknow lead by Ram Prasad Bismil

(D) Burning of police station with 23 policemen in protest of police firing on prote
non-cooperation movement

Golden revolution in the field of Agriculture is related to :
(A) Fish (B) Oil seeds
(C) Egg and Poultry products (D) Horticulture, honey and fruits

White rust is an important fungal disease of :
(A) Tomato (B) Potato (C) Wheat (D) Mustard

If 7589 — X =3434, then which one is the value of X ?
(A) 5541 (B) 3155 (C) 4155 (D) 2321

Which one of the following does not cause the HIV transmission ?

(A) Biting of HIV infected insect

(B) Sharing and reusing syringes contaminated with HIV - infected blood
(C) Contact with infected sexual fluid

(D) Infected mother to child during pregnancy and child birth
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et TR for & o Iepse +d o faw foan simar &2
(A) TIOEE 9WE  (B)  wHIRe wal (Cy fomm (D) Towa wfa

T B ST TS YOI A 1 e Seyd o ¥ 2

(A) TSHIfaw Tl o1 fochwslentor T 379 S o &l | o
(B) wETE fowhmd

(C) Toruri 1 @w 3 & forw

(D) e &% @R & fora Jsmm 3eas e

YT G9ren O 1 Taiss YAreAey (YUiH FA1E) S el & 2
(A) FS S (B) &n WAt (C) ¥Rd 1 Ugufd (D) 9aH H=ft

frafafeg § 9 1922 &1 i w2 90 <R Fie § Fatam 872

(A) of & H sTafus gfe & foly § aeawi 9ot & A0 H oy

(B) SITERE o T % WHI WTQah g

(C) T yEr faferd % Aga # Tes % g 1o Sehdt

(D)  erEedn A=emeHIEl ® gfaw fiefart & fady # 23 gfew s wia gfem am =i sermn

Ffa 3 & A gTedt wia fray wwifm 82
(A) wod (B) 1 ¥ <t arelt wEe
(C) e iR Heifarer (D) awTEH, TS 3 A

g frg' S u Teeqel Faw A R, R mEm R ?
(A) TR (B) o © (D) el

Tfe 7589 — X =3434, 9 X <hl OF @RS :
(A) 5541 (B} 3155 (C) 4155 (D) 2321

frafafed § 9 S TF T9.3TE.91. HhH0 H FRT TE ¢ 7

(A) TE.eTE. . FHET Fie F FEeA A

(B) T3 HWerfia T arell Fafs i W H AT IR TR B G S W
(C) HewfHa wifie a1 | T

(D) Trfereen oiR oy s % wH Wewia A @ forg
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Which statement is correct about biofertilizers 7

(A) They are ecofriendly

(B) They slowly convert the field into a barren land
(C) They slowly increase the salinity in the soil

(D) They decrease the soil fertility

The constitution of India was adopted on :
(A) 26 January 1950 (B) 26 November 1949
(C) 26 November 1947 (D) 26 January 1948

Scurvy is caused due to deficiency of :
(A) Vitamin D (B) Vitamin C (C) Vitamin A (D)

The main objective of Rehabilitation Council of India is :

(A) Regulate and monitor the pollution in the cities

(B) Regulate the slum colonies in cities

(C) Regulate and monitor the services given to persons with disability
(D) Regulate and monitor the restoration of forests

Atomic number of an element represents the number of :
(A) Electrons and protons (B) DProtons and neutrons
(C) Neutrons (D) Protons

Who has won Sahitya Academy Award - 2017 in Hindi Literature ?
(A) Viren Dangwal (B) Mridula Garg
(C) Ramdarass Mishra (D) Ramesh Kuntal Megh

Which one is the present administrative capital of Sri Lanka ?
(A) Sri Jaiwardenepura Kotte (B) Jaffna
(C) Colombo (D) Anuradhapura

Which one of the following statement is not correct ?

(A) Nostoc and Anabaena are nitrogen fixing cyanobacteria.

(B) Yeast is used in making bread and beer.

(C) Most viruses have DNA and RNA, both as genetic material.

Vitamin B

(D) Lichen is a composite organism of symbiotic association of algae and fungus
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319 39 % fawa & S e w7
(A) o wie= fox §

(B) o efiY-+fit W W siow uft H wEe Y §
(C) o ¥R+t ga1 & wraorn # g ww §
(D) o 1 I AT B W

a1 Giaum forg 7 9 stommn = an?
(A) 26 FEl 1950 (B) 26 TR 1949 (C) 26 TR 1947 (D) 26 SAE{ 1948

whet U foRde! Tt o HROT BT B 2
(A) feif D (B) feaia C (C) faarfma A (D) faefga B

AR gAar IReg 1 &7 3299 F1 % ?

(A) TR0 H yguer H P ot vedaam

(B) vl # Wi w1 Fre

(C) Torarim Al ot §t s arelt anstl @1 fram it wiEe s
(D) STEl % SR F H T iR wdasm

Tt T 1 IO ik fohuet W wI gl €2

(A) TR 3R 9eH (B) g AR URH

C) == (D) WM

et wifecw o mifeey st QRERR - 2017 forgs ST #2

(Ay ToE Srem (B) wgem (C) e (D) T Feet Ay
FAAA H Hieiehl i TS TSEFT i @ 82

(A) St SEEHITT B (B) S

(C) e (D) I
frefafes & @ 59 o we w2 T84 &2

(A) LR AR TR Aggre iR W Sshar] €

(B) e, oe 3R forw 3 w7 & v Bt B

(C) sttt formogadi § sngafers uerel & €9 F LT R SR S 9 ¥
(D) EHA VA R FHash T ey vy 9 99y S ¥
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Algebra was invented by which of the following ancient Indian Mathematician ?
(A) Varahamihira (B} Aryabhatta (C) Nilkantha (D) Bhaskara

Bihar provincial Kisan Sabha was formed in Bihar in 1929 by Sahajanand Sarswati t¢
(A) Protest against Noakhali riots

(B) Protest against the killing of Baikunthnath Shukla

(C) Mobilize peasant grievances against zamindari attack on their occupancy right
(D) Mobilize the people against the arrest of Gandhi in Bihar

Which of the following crop is useful to enrich the soil with nitrogen ?
(A) Gram (B) Rye (C) Maize (D) Paddy

Reduction involves :
(A) gain of electrons (B) loss of electrons
(C) removal of hydrogen (D) gain of oxygen

The folk painting ‘Madhubani’ originated in :
(A) Kashmir (B) Maharashtra
(C) Bihar (D) Madhya Pradesh

Which one of the following statements is not correct about biodiversity ?

(A) National Parks and Wildlife sanctuaries are made for the conservation of bio
(B) Every year 5 June is celebrated as International Biodiversity Day.

(C) It is the occurrence of varied type of organisms on earth.

(D) Western Ghats is a biodiversity hot spot in India.

A person incurs a loss of 5% on selling a phone for T 1140. At what price should
be sold to earn 5% profit ?

(A) T 1280 (B) T 1260 (C) T 1230 (D) ¥

As Telangana is related to Andhra Pradesh, in the same way Chhattisgarh is rela
(A) Madhya Pradesh (B) Bihar (C) Ranchi (D) E
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22,

23.

24.

forg =i sRA Miftag 3 siemfoE 0 @5t &t ?
(A) =RMARR (B) odwg (C) -ierhs (D) ¥Rt

R, Tl g 1929 H foer & * fagr wwita foram g’ g forg st wft o ?

(A) rae g+ faeg faly weslq

(B) SgoTy YT &I T & faeg @l ® gfsd w

(C) wrieRl g/ e formm % aifusim iyl W smermo & forliy F e @) Rorerrl @
R H A

(D) Toew 4 weftsht =t vt 3 foliy & @il <61 wmrg s

g} § 2eM &t YA @ & foU e o B aveEE § 2

(A) = (B) W (C) wal (D) Y
AT A F B R ?

(A) TR o A (B) seigel I @I

(C) erEge = fh (D) oo w1 W

WAreheheT o el T SOE el gl ?
(A) YR (B) eI (€ faer (D) W& W

frafafaa § & S W FuF Safafayd & favg ¥ o8 @ 2

(A) TR I R T=relg svarvd Safafayar & @ & fag 571 12 €
(B) WS IY 5 7 Wl TS Safafgea feag T S g

(C) qeat W fafim g o Sfal 1 9 S Satataed ¥

(D) W@ ¥ =t ure Safafaum & s g e (fafafire we) #)

U = 1 Tk B € 1140 H S99 W5% H1 81 8l §1 S8 =afed &l 5% o %AW & fog 39
T Wl fwaq T = =ifge ?
(A) T 1280 (B) T 1260 (€) T 1230 (D) T 1250

o gt AT T oY TRW § Iy ¥, SHT YRR SNiaE w1 ey fHud €2
(A) e 4T (B) famr () W=t (D) TR
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30.

31.

32.

Eugenics is a science that deals with the study of :

(A) Human being, their development, culture and societies

(B) Methods to improve the human race by carefully selecting hereditary qualities
(C) Formation of rocks

(D) Evolution of organism

Who among the following decide the foreign policy of India ?
(A) Council of Ministers (B) Foreign Minister
(C) Parliament (D) Prime Minister

Who has been sworn as the new Chief Minister of Himachal Pradesh in December 2017 ?
(A) Thakur Ram Lal (B) Jairam Thakur
(€) Prem Kumar Dhumal (D) Virbhadra Singh

Who among the following rulers of Magadh founded the city Patliputra on the bank of river
Ganga ?

{A) Pulkesi (B) Ajatshatru !
(C) Samudragupta (D) Vikramaditya

Which sector is the backbone of Indian economy ?
(A) Agriculture (B) Automobile (C) Tourism (D)} Film and Music

Kathakali dance originated in :
(A) Orissa (B) Kerala
(C) Rajasthan (D) Andhra Pradesh

The UNESCO world heritage site ‘Hampi’ is an example of art of :
(A) Rajamahendravaram (B) Kanchipuram
(C) Vidisha (D) Vijayanagar

A mixture of naphthalene and sand is separated by :
(A) Filtration (B) Evaporation (C) Sedimentation (D) Sublimation

10
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27.

28.

29.

30.

31.

32.

. GEafe o faam & W e steem 9 grafem ¥

u&ﬁ

(A) we sufa, 9t fawm, Sl o wm

(B) srgefiie Uil <l T § g, THa W § gur =t fafuel w5 atemm
(C) =Ml 1
(

D) il 1 faer
At ferw Aifa W fofa s am g2
(A) = 9REg (B) faew w=ht (C) #H=e (D) TuF "

femer 2017 ¥ ferra 991 % 72 gEEwEl & e H R g T €2
(A) SEXTETAA  (B) W I (C) WMFIR yaa (D) oRuR fog

Frfefed | @ 7y & o9 WEeE 7 T A % 9 T IEEiyS A YR SO of ? |

(A) TEHE (B) STSIRTH (C) WET (D) fesmmric
T G G IR Srefemeren & SNuR ¥ ?

(A) HfH (B) wWeuf@amt  (C) Wded (D) frem ol wita
HUHE T BT S Ll g3 ?

(A) IS (B) (C) TSI (D) 3Ty Yom

IVt fava wlet Tt ‘gefi’ fonaent et o1 3qRw § 2
(A)  THE=EH (B) Iy (C) fafem (D) ToeTR

Teerelt 3TN =Te] & T o fonw fafl grr eter famar ST @2
(A) B (B) amH (C) 3A=ERA (D) AU
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34.

35.

36.

37.

38.

39,

Right to information act deals with :
(A) Get admission in any educational institute

(B) Buy property anywhere in India except Jammu and Kashmir

—_—~

(D) Visit anywhere in India without information

Which one of the following provides an effective shield against damage to organisms due to

Ultra-violet radiations of the Sun ?
(A) Carbon Monoxide (B) Ozone
(C) Helium (D) Nitrogen

Which are the tiers in Panchayati Raj System in India ?

(A) Gram Panchayat, Panchayat (Block) Samiti and Zila Parishad

(B) Gram Panchayat and Panchayat (Block) Samiti
(C) Gram Panchayat
(D) Zila Parishad

World famous Chhota Nagpur Plateau is known for rich :
(A) Woolen clothes (B) Cave temples
(C) Biodiversity (D) Minerals deposits

Vinegar is the trade name for :
(A) Carbon tetrachloride (B) Acetone
(C) Ethyl alcohol (D)  Acetic acid

Biogas can be obtained by :

(A) evaporation of pond water

(B} fermentation of animal and plant waste
(C) destructive distillation of coal

(D) 'burning of plant waste

Richter scale is used to measure :
(A) Intensity of earthquakes (B) Intensity of sunlight
(C) Wind velocity (D) Humidity

12
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I T SAUFR S et

(A) el oft Steafors Heem & wow o 1 sifeR

(B) TIRI-h¥AER ! B WRd A FEl ot geafa wliey #1 R
(C) e Wit % =mia fored off g o 989 &1 stfusn
(D) fomm g=m 22 wma | &l oy = srfueeR

Sitell b g ¥ 37 areft TrET Rl @ A9 e afi | i e w1 F sm
(A) A AEERE (B)  3Nm (C) diferam (D) FRENH

WA ¥ g Ot gonel § HE-aH ' §?

(A) T YEEE, TEEE (EUs) aftfy ol e uftee
(B) 7™ Y IR 99RE (WUe) wifa

(C) UM Y=

(D) Toren v=mea

forve 9ids ' Biel TR 18R’ et T & fae S s 8 2
(A) T HUS (B) TwER AT (C) Safafyum (D) @fe sfsr

et forgan smifies 7w &2

(A) FEA TEHANES (B) THEH

(C) Tfoe sTehed (D) Tfafes am

AR HY Y foRan S Hehdl & 2

(A) A I H AT G (B) S 3T URY F9S % fFva
(C) HEen F YSih e | (D) URY FIS H AW A

et st ot W9 3 e e Bran §2

(A) Y&HF HI i (B) T RN I citerar

(C) agam (D) g
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47.

48,

v
Arjun award is-given for outstanding achievement in :
(A) Socio-communal harmony (B) Music
(C) National feature films (D) National sports

To implement Farm Loan Waiver decision, which committee is constituted by Uttar Pradesh
Government ?

(A) TSR Subramaniam Committee (B)  Vinod Malwal Committee
(C) Rahul Bhatnagar Committee (D) P.D. Siwal Committee

Which one of the following is mismatched ?

(A) Iron Man - Rahul Sanskrityan

(B) Loknayak - Jai Prakash Narayan

(C) Bihar Bibhuti - Anugrah Narayan Sinha
(D) Bihar Kesari - Sri Krishna Singh (Sinha)

The gastric juice contains :
(A) Sulphuric acid (B) Hydrochloric acid
(C) Acetic acid (D) Citric acid

Nuclear fission results in the production of :
(A) Electrons (B} Neutrons (C) Positrons (D} X-rays

Which one of the following crops is mainly grown in the Deccan Plateay ?
(A) Saffron (B) Cotton (C) Rice (D) Mustard

Jarawas Tribal are mainly habitant of :
(A) Andaman Islands (B) Kerala
(C) Madhya Pradesh (D) Rajasthan

Which gas is used for artificial ripening of the green fruits ?
(A) Acetylene (B) Ethylene (C) Ethane (D) Methane

The famous Brihadeshwara temple in Thanjavur is built by :
(A) Aparajita Pallava {B) Shivaskanda
(€) Raja Raja Chola I (D) Pulakesin II
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40.

41.

42,

43.

44.

45.

46.

47,

48.

3T R o & o Scean o forg foan mam 22

(A) FHIfSTsh - R WSS (B) Wi

(©) U o frew (D) T Ea

St 0 AT frofa 1 o S ¥ fag STOTRY wRR 5 FE O il i 9 e 37
(A) e gemtEy gfafg (B) Tfadig werama winfy

(C) s WeIrR |fRfa (D) 2. foame wfafa
frafafad 4 9 SR mada 2?2

(A) dRTET - TEA WEpEE

(B) WHATF - T YHW AE
(C) TR faydl - 19w = o=
(D) foer &9 - ot o e (Taman)

TR H H= e ?
(A) TeHfEH I (B) wRSEEiE e
(C) THtfew s (D) Taigh a7

TRty faesT ¥ qRomaesy faden eared 2 ?
(A) TR (B) 2™ (C) ditsgH

frafafed o | w1 9 e 7o S % 1er | o e @2
(A) HE (B) HUH (C) ==d

ARy ATfearet T wE % e €2
(A) ¥EHH g1 (B) T (C) T I

T HA B P T Y TR F A s @ e g e €2
(A) gl (B) Tlerid (C) 3o

IR H Ui Jeeva it foras e o ?
(A) Fufa@ oeed (B) foewdg (C) T TS = - [
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49.

50.

51.

52.

53.

54.

55.

56.

Subrato Cup is associated with :
(A) Hockey (B) Volleyball (C) Football (D) Basketball

Which one of the following lines passes through India ?
(A) Prime Meridian (B) Tropic of Capricorn
(C) Equator (D) Tropic of Cancer

The great Emperor Ashoka was related to :
(A) Varman Dynasty (B) Sena Dynasty
(C) Maurya Dynasty (D) Haryanka Dynasty

If an electric current is allowed to flow through a vertically placed wire, the magnetic fiel
produced will be :

(A) Zero (B) Ends of the wire
(C) Parallel to wire (D) Perpendicular to wire

What least number must be added to 1056, so that the sum is completely divisible by 23 ?
(A) 12 , B 9 < 2 (D) 3

In a certain code, KASHMIR is written as JBRILJQ, how LUCKNOW is written in thi
code ?

(A) KTBJMNV (B) LBTNJMP (C) KVBLMPV (D) MVDLOPX

Open pond water remains cool under the hot sun rays :
(A) Water keeps evaporating so heat is not gathered
(B) Water surface reflects the sun rays

(C) Water is poor conductor of heat

(D} Water absorbs heat and sends it to bottom

Jungle Bachao Aandolan in Singhbhum district in 1982 opposed :
(A) establishment of coal mine

(B} the construction of hydroelectric project

(C) decision to replace the natural Sal forest with Teak

(D) decision to replace the tribal colonies
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56.

gora! %Y 5 Oa § TEhd €2 _
(A) @fet (B) dicitare (C) o (D) STEHEE

~2

Freafafes § @ 9 O @ 9RT ¥ 2 9t g ?
(A) T 9EE @ (B) WL Y@l (C) & Y@l (D) e @l

e GYRE 9 g Ueew § gt or ?
(A) =T (B) ¥ (C) wd (D) &

If Tk Tog o FY HeEleR W@ AR A Qe FaITEd R S ¥, T S e & FE e/
e I ?

(A) I3 (B) mﬁ:ﬁﬁfﬁ (C) TNF TR (D) TR T

o T T 9 dem F S Y 1056 § Shed W ag 3 23 9 o w9 @ favifea 8 st €2
(A) 12 ®) 9 Q) 2 (D) 3

e T e § 3% KASHMIR %7 JBRILJQ foer s ? @ <6 wie § LUCKNOW %! %%
fera smem ?
(A) KTBJMNV (B) LBTNJMP (C) KVBLMPV (D) MVDLOPX

! a1 e gE W T R % e W S e § I
(A) Ster ST S T § ST SO TR T o

(B) e, g ol ! TEfla e < €

(C) Sid, Ho 1 FAE ©

(D) T, SoA1 i SR X I Tl § U @R

T 1982 H ffergm el 8 gu * it sransht sierer ! 3 foren T fopa e ?
(A) ST F GH F T F foly §

(B) rAfaea ufeersmn & fefor o forder &

(C) TTHferR Wiel % i b geneRt | e < rfa o ol

(D) 3mfeard e 1 g % oy 4
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63.

Champaran Agrarian Bill - 1918 was passed for :

(A) Enquiry about the communal violence in Champaran
(B) To release Gandhi Ji from Motihari Jail
(C) Granting more compensation and control over farming for the poor farmers

(D) Granting permission to make Bihar and Orissa as separate territories

Right against exploitation in the Indian constitution prohibits : i
(A) Eétablishment of educational Institution of their choice
(B) Adoption of a particular profession :
(C) Child labour

(D) Discrimination on the basis of religion and caste

The ratio 5 : 20 expressed as percent equals to :
(A) 0.25% " (B) 25% (C) 50% (D) 125%

The noble gas used for radiotherapy is :

(A) Xenon (B) Radon (C) Argon (D) Neon
Which one of the following National Parks is well known for one-horned Rhinoceros ?
(A) Great Himalayan (B) Satpura

(C) Kaziranga (D) Silent Valley

In the nitrogen cycle, denitrifying bacteria :

(A) oxidises ammonia to nitrites (B) oxidises ammonia to free nitrogen

- (€) oxidises ammonia to nitrates (D) converts nitrogen into ammonia

Earth day is celebrated annually on 22 April to support :
(A) Protection of heritage sites

(B) Harmbny and peace with neighboring countries U 1
(C) Environmental protection

(D) Protection of human rights

18
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Na

TR WiER o - 1918 fhas fow wiva fo=m man ?

(A) =HA B TreIas S ot Sie o fag

(B) it el HifdeRl wel ¥ Yo L % fog

(C) e ferarl w1 3R sifus gemEsn ¥ ol IR B W Frmmm % fer argefa 37 % few
(D) Toem iR s 1 <) srerT &5 § =iftg Y it ST o7 & g

et dfyea # s o favg stfuer fed ffvg a2
(A) T TSTTER N&0RE W ®1 WO (B) T ORI =yadm 7@
(C) o Al (D) ¥ 3iR wfa & YR W deva

5:20 % A I, wferd § 0 W R g ?
(A) 0.25% (B) 25% (C) 50% (D) 125%

P @t Tee T, Tafwor fafee § wyw a2
(A) S (B) W (C) & (D) Taetia

Frefefiag & § S5 W T2 SUH T T o {8 % fon S S g2
(A) = feaered (B) TAYR (C) s (D) wwEeie deft

AR o T fermeSieRTaR ey R i ¥ ?
(A) TR ST TELEE H Al

whred 22 o w gesht fem feress wmelR % forg wamE S g2
(A) Touda we = g

(B) Wi el F Wiy WiHwE IR vl

(C) afETer weam

(D) HFaTfeER et &l
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70.

Which among the following is a feature of Federal State ?

(A) All powers are with the State Government ]
(B) It has unwritten constitution
(C) Powers of Central and State Governments are clearly laid down

(D) Powers of Central and State Governments are not clearly laid down

Carbon monoxide is poisonous for our body and may cause death because
(A) It blocks pores of skin

{B) It quickly combine with haemoglobin of blood

(C) It inhibits supply of oxygen

(D) Itis converted into carbon dioxide and blocks the wind pipe

An exhibition ‘Swachhagrah - Bapu Ko Karyanjali’ has been inaugurated in April 2017 in
New Delhi by Prime Minister Narendra Modi to mark 100 years of the :

(A) Establishment of Azad Hind Fauz (B) Gandhi-Irwin Pact
(C) Historic Champaran Satyagrah (D) Swadeshi Movement

The active constituent in Tea and Coffee is :
(A) Caffeine (B) Curcumin (C) Ephedrine (D) Nicotine

The inherited traits of an organism are controlled by :
(A) DNA (B) Cytoplasm (C) Redbloodcells (D) Enzymes

The eyes of potato are useful for :
(A) Increasing soil fertility (B) Absorption of mineral from soil
(C) Vegetative propagation (D) Attracting pollinators

Sarva Shiksha Abhiyan was launched in 10t five year Plan for :
(A) Universalization of elementary education

(B) Compulsory education for girl child

(C) Education for all

(D) Providing education for weaker section
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64.

65.
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70.

frefafes § 9 F, T 09 %1 T ago 2
(A) Tl Wil T TUHR & U9 gt &
B) sue fom foman gon dfaum &

(
(C) sa oI 750 Wil ! ifeaal <1 v fruftor g
(D) =T IR T TN ! iRl w1 vy Frfvor 2 € &

e HHISRES #AR R 3 fau faieh §, oit 3% wrw gog & wohd! § it
(A) TE == % Todil 1o T A R

(B) % TSIl | oK % GPEIiE 3 Wi Wi g st &

(C) I% TS Y 2yfd Y el &

(D) % FEA SRslaEe ¥ uftafis S gHRt argel I 5 % o ¥

e 100 o 9 2% =1 fafea s & fag fFam ©2

(A) STHTE f&s WIS T T (B) itit-gafert Wiy

(C) faefas =R T@wE (D) =Ryl e

= SR it H 9k el I e ?

(A) H®HA (B) wegfha (C) frfga (D) fr=rEm

e Sfid % SMETeh & fonder gR1 Fraf=a g 22
(A) BLTAT (B) IR 57 (C) o & wivee (D) ToeH

3T i it Frfafad § @ fas fag swent & 872
(A) W1 i SeLHdl SGHT (B) W1 ¥ @IS &1 STy
(C) o gagH (D) TR Heh! T SATHT

Tt deaty afiEism o semn e wd fran st foras fow e ?
(A) wrafhes faen 1 wrE-sifyso

(B) wnferemieti o forw sifamd fam

(C) wah faq fren

(D) =hESIR & @ fag fan
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71.  Which one of the following is a new breast cancer test, which may spare patients from
chemotherapy ?

(A) Oncotype DX (B) Endoscopy
(C) Chest X-Ray (D) ELISA

72.  Which one of the following are called producers in an ecosystem ?
(A) Fungi (B) Man (C) Plants (D) Animals

73. Fiscal deficit equals :
(A) Borrowings less interest payments
(B) Interest payments less borrowings
Interest payments

Borrowings

74. Super conductors are those which have :

(A) Lowest resistance to heat (B) Highest resistance to heat

(C) Highest resistance to electricity (D) Lowest resistance to electricity

75. Who adopted Poorna Swarajya in 1929 ?
(A) Gadar Party (B) Revolutionary Party
(C) Indian National Army (D) Indian National Congress

76. Indian constitution has adopted Parliamentary system of constitution of :
(A) South Africa (B) UK (C) Russia (D) China

77.  Which King founded Nepal by its unification in 1768 ?
(A) Tribhuvan (B) Gyanendra
(C) Prithvi Narayan Shah (D) Birendra Bir Bikram Shah

78. Mahatma Gandhi launched Kheda Satyagrah in 1918 in Gujarat to support the cause of :
(A) Prisoners (B) The peasants (C) Mill owners (D) Landlords
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76.

77.

78.

Tretiated 9 @ M w9 S % fo 7 whem § fed I e fafrer = @ 99 g 32
(A) iR B0 (B) Teid ¥
(C) wret X-frgo (D) TEEr (3.0 3TE.TH.4.)

& uifia= 8, frefafaa 9 @ 5l soes =g s §?

(A) w95 (B) =I# (C) =Y (D) g
TSTHIEE e R T -

(A) U H QA IR WG HE (B) AW STaht F ¥ Sl we wen
(C) =S It & (D) Ul &
e o g € o -

(A) T F fau=Aan sRAY S e (B) o0 % fog s gy 2ar
€ frESfausamaf@udae (D) fage % foag =mem il

T 1929 # 7o W R araAmn ?
(A) TR U (B) ehif=qeprl Aret
(C) WIREE T & (D) YNAE T &g

YR diaym « Fafataa § 9 feg 2 & dfaum St 99 qomet ) e €2

(A) cRmewE (B) I C) w9 (D) =

T 1768 H T TS 7 THIARI Floh TITE hl TATYAT i ?
(A) PogE (B) IR
(C) geslt T R (D) Torg oK fasry R

TRICH e 3 1918 | TSRIG H Wl YT et THesd o gadq | aemen a1 ?
(A) =& (B) T frEm (€ & mifems (D) SHiER
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79.  Which one of the following statement is not correct ?
(A} Tiger is categorized as an endangered animal.
(B) A museum has collection of photographs of plants and animals.
(C) Herbarium is a store house of dried, pressed and preserved plant specimens.

(D} Botanical gardens have collection of living plants for reference.

80. In a competitive exam there are 50 questions and for each correct answer there are 4 marks
and for each wrong answer 2 marks are deducted. What is the total of marks obtained, if 1
only 23 answers are correct and rest are wrong ?

(A) 92 (B) 54 Q) 34 (D) 38

81.  Which one of the following is successfully test fired in July 2017 by DRDO from Chandipur,
Odisha ?

(A) Surya - surface to air missile £
(B)  Quick Reaction surface to air missile
(C) Nag - anti tank missile | 4
(D) Prithvi - I surface to surface ballistic missile |

82. Fa-Hien visited India during Gupta period with a main aim to :
(A) Study the Indian culture and life style
(B) Study the teachings of Gautam Buddha
(C) Visit the historical places
(D) Establish business

.
s e e e

83.  Which one of the options of fractions shows the correct ascending order ?

7 5 3 13 5 3 13 7

. —_— e < g —_ <
S TR T: ® 5% 1% 13 _
5 7 3 13 5 7 13 3 1
_—— < L — K — D g
© i ‘% D) g7 <137 1

84. Who won the Man Booker Prize for his/her Book ‘The White Tiger’ ?
(A) Aravind Adiga (B) Khushwant Singh
(C) Chetan Bhagat (D) Arundhati Roy
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Freafafaa & § 51 @ Fom @ w22

(A) =TS ) Heharas wivRd Y Sl F T v

(B) TuErer ¥yl ok sl ¥ W = ug A 21

(C) TR, Y& 71, & T T, TIE TR T 1 HeRyE g R
(D) orrefaE SaE B e % fore @ Shifaa wredl w1 g aar §1

T wheranit e # 50 WA € R T TE IW F T 4 3 § ol wlw o s ¥ fou 2 S
w1 forg st €1 Ak et 23 IW wd € oI 9! e € | et e o Wi g2
(A) 92 (B) 54 (C) 34 (D) 38

frefafaa & @ for firarest =1 o 2017 # Sham el g0 SR, IS ¥ WheTgEE wa
Tar w2

(A) T - A 9 B W AR HE e fHaEe

(B) Toarer Rusm (R wiafshan) ST 8 % W AR &3 el fouma
(C) = - I fodedt firemga

(D) Y - [ Sl § SHA el sfafes e

e et - T TR SRE @ WG T o ?

(A) YREE WEpla AR el & oTerA & fag
(B) Tiraw Jg i el & evemEa & faw

(C) e vl % o F ferg

(D) =R =t T % fag

frfafad § @ 390 &1 S o foawcg ¥e STE s <uiar &7

7 5 _3 13 5 3_13_7
—_— L - - — L — < — <
A 53711 ® 8°1°1% 12
5_7 _3_13 5 7 _13_3
_— L - < — g
© § 111 @ §°12°1% 12

AT TF I T wee TR & o T g e fRd faen ®7?
(A) 3WG= afem  (B) e fHg (C) =T W (D) o7t W
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Which one of the following pairs is mismatched ?
(A) National River - Ganga (B) National Bird - Cock
(C) National Song - Vande Mataram (D) National Tree - Banyan tree

Find the mismatch.
(A) Nanda Devi - Uttarakhand (B) Anamudi - Tamil Nadu
(C) Khasi Hills - Meghalaya (D) Zoji La - Jammu and Kashmir

Marasmus in children is caused due to deficiency of :
(A) Fats {B) Proteins (C) Sugars (D) Minerals

Kamal purchased a sofa for T 5000 and sold for T 4000. What is the lost percent ?
(A) 25% (B) 20% Q) 5% (D) 10%

In the Indian Parliament, the time immediately following the question hour around 12 noon,
when members can raise issues is called :

(A) Motion of no confidence (B) Business hour
(C) Question hour (D) Zero hour

A person took a loan from a bank for 6 years at interest rate of 5% per year on Simple
Interest. If the total interest paid was ¥ 1230, the principal amount was :

(A) T 4350 (B) ¥ 4250 (C) % 4000 (D) T 4100.

Zakir Hussain is associated with :
(A) Flute (B) Tabla (C) Sitar (D) Sarod

Who won the Indian sports - women of the year (Team Sports) award at the Indian Sports
Honours - 2017 event held in Mumbai ?

(A) Saina Nehwal (B) P.V. Sindhu
(C) Mithali Raj (D) Sakshi Malik

A group of 1200 persons consisting of students and teachers is walking in a forest. For every
15 students there is one teacher. The number of teachers in the group is :

(A) 90 (B) 80 (C) 70 (D) 75
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frefafed § @ S 78 38 37

(A) T T - T (B) Usfa weft - gl

(C) T v - o= HKH (D) T 34 - IO 4
frafafed § ¥ 9@ = g

(A) o1 = - TETS (B) oSt - dferg
(C) T vaifear - TR (D) Wirsfrem - w7y 3R HYEi

I H T (g ) et S S R S § 2
(A) =T (B) WM (C) T (D) |

FA 3 T 5000 1 TH Grer Tl iR W ¥ ¥ 24000 W 39 fEmn 3@ e vl wft g8 2
(A) 25% (B) 20% (C) 5% (D) 10%

YA FEE § 999 F1el & Sl 18, S9e 12 o9 1 G T FHeel[l 8§, 59 TG AHe 31 Hehd
??
(A) offova™ yemE  (B) i @A (C) ¥ &= (D) YA &

& SRR T 5% Y 5% % GERU =9 W 6 94 & fa¢ w0 o §1 A $o e o

T 1230 ® °f g&1 o9 foha o ?

(A) T 4350 (B) T 4250 (C) T 4000 (D) ¥ 4100
R g8 foherd weafeaa 72

(A) wigd (B) awel € faar (D) T

g § g WA B HE - 2017 § 96 &1 9RdE Afeen faergl geenn (e feerd) 5 fam
TE? _
(A) TR YEaT (B) . foy (C) fraweh o=t (D) et afaes

1200 RT 1 T e T o ofR S7erye €, U S H 9o W ¥ ) wedeh 15 9l o o
T TS §| 39 9ig § ol T a1eamss 82
(A) 90 (B) 80 (C) 70 (D) 75
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Which among the following is not a fundamental duty of a citizen under Indian
Constitution ? '

(A) Take at least one village to transform it

(B) Value and preserve the rich heritage of Indian composite culture _
(C) Uphold and protect the sovereignty, unity and integrity of India
(D) Promote harmony and common brotherhood amongst all the people of India !
Ujjain is situated on the bank of river :

(A) Sarayu (B) Chambal (C) Narmada (D) Shipra

Find the value of X in 3889 +12.952 — X = 3854.002.

(A) 40.95 (B) 43.95 (C) 47.95 (D) 44.95

What is the largest 4 digit number exactly divisible by 88 7

(A) 9988 (B) 9999 (© 9911 (D) 9944

Which scheme is launched for skilling for Smart Cities in India ?

(A) Pradhan Mantri Gram Sadak Scheme

(B) Suraksha Saving Scheme

(C) National Rural Employment Scheme

(D) Pradhan Mantri Kaushal Scheme

Find the value of 112x 5% )

(A)y 77200 (B) 76500 (C) 67000 (D) 70000

The receipts which can not be reclaimed from the government are termed as:

(A) Non tax revenue receipts (B) Capital receipts
(C) Tax receipts (D) Revenue receipts
-00o0-
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94.

95.

96.

97.

98.

99,

100.

R Wfaur & siata frafafen § ¥ $F T, 9w i w1 geg wde @ 12
(A) HH Y FH TH 9 B A 39 qREdA A

(B) WA ! WY H&R{T & T forraa =t 9 & 3l e e

(C) RG i GUYHI, Tohal 3R STEESH T HEH @A 3R =M

(D) 9Rd % W ATl o ot TEeR 3R oy iR Y Wt wOm

AR T e wam R?
(A) W (B) ==d (C) g (D) o

3889 +12.952 — X =3854.002 ¥ X 1 OMF 41 211 ?
(A) 40.95 (B) 43.95 (C) 47.95 (D) 44.95

IR 3Tl A 98 994 991 G S | ¥ S 88 ¥ qul wy | fawiiee 2 st § 2
(A) 9988 (B) 9999 (C) 9911 (D) 9944

IRA B e el & Yoo & for i ot s St me R 2

(A) WUWE W U TS Freml (B) &N wrud AT

(C) ety wreror AT v (D) WU Tl shivret A

112 x 54 1 AR F 8 ?

(A) 77200 (B) 76500 (C) 67000 (D) 70000

57 wifteli < foTe R 9 T a1 TE {1 Gehdl 3% o1 el ST 8 2

(A) R F e Wi (B) it wftea
(C) = Wil (D) I Wit
-00o0-
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BIHAR STAFF SELECTION COMMISSION

VETERINARY COLLEGE CAMPLUS, Patna-14

ADV. NO.-0411, JUNIOR ENGINEER ( CIVIL/MECHANICAL)
Model Answer

‘SUBJECT - G.K

The model answers of question 1 To 100 of the test Booklet No. 121824 of ADV. NO.-
0411, JUNIOR ENGINEER (CIVIL / MECHANICAL) are given below.

Q.NO Maodel Q.NO. Model F;lo. Model Q.No. Model
Answer Answer Answer Answer
1. o 26. A 51. C 76. : B
2. A 27. B 52. D 77. C
3. C 28, B 53, C 78. C
4, D 29, A 54, C 79. B
5. D 30. B 55. A 80. D
6. D 31. D 56. C 81. B
7. C 32. D 57. C 82. B
8. A 33. c 58. C 83. A
9. A 34. B 59. B 34, A
10. B 35. A 60. B 85. B
11. B 36. D 61, C 86. B
12. C 37. D 62. B 87. B
13, D 38. B 63. C 88. B
14, D 39. A 64. C 89. D
15. A 40. D 65. B 90. D
16. C 41. C 66. C 91, B8
17. B 42, A 67. A 92. C
18. C 43. B 68. A 93, D
15. A 44. B 69. C 94. A
20. A 45. B 70. A 95. D
21, C 46. A 71. A 96. c
22. B 47. B 72, o 97. D
23. B 48. C 73. D 98. D
24. A 49, C 74. D 99. D
L 25 B 50. D 75. D 100. c B
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